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No.P/NAG/CON/2024/07(e-136170) Date:- 01.04.2024

To,
All Concerned,
S.E.C. Railway, Nagpur.

Sub:-Publication of answer key of written examination conducted on 28.03.2024 for
selection to the post of Junior Engineer (D/M) in Pay Level-6 against 25% IMA quota
of the Mechanical Department of Diesel wing.
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In connection to this office Notification No. NPB/1446/2023, dated 21.09.2023, the written
examination for selection to fill up 02 (UR-02) vacancies of Junior Engineer (D/M) in Pay Level-6
against 25% IMA Quota of the Mechanical Department of Diesel wing was conducted on
28.03.2024.

As per extent provisions, Answer key of the aforesaid examination is hereby published for
information.

However, candidates may also download the answer key from the official SECR website
(secr.indianrailways.gov.in>Dept/Div of SECR>Division>Nagpur> Personnel>Answer Key).
Further, candidates are advised, if require submit representations against the questions including the
optional answer in objective questions and answer key alongwith supportive proof/documents
within 03 (Three) working days i.e. 18.00 hrs of 03.04.2024 in the office of the
Sr.DPO/SECR/NGP in the prescribed proforma (copy enclosed of Annexure-1). Representations
will not be considered after 03.04.2024. If no representations are received in the specified period, it
will be assumed that the concerned staff has no objection with the question paper & answer key for
the instant selection.

Encl:-
1. Annexure-1 o .
2. Answer Key of exam dtd. 28.03.2024. Digitally Signed by
3. Question Paper of exam dtd. 28.03.2024. Kamleshkumar R. Borkar

Date: 01-04-2024 15:34:02
Reason: Approved

(Kamleshkumar R. Borkar)
Assistant Personnel Officer-I11,
for St. DPO/SECR/NAG

Copy to:- Ch.OS/Cadre-II of Sr.DPQO’s office for information and it is advised to publish it widely
amongst concerned staff.

for St. DPO/SECR/NGP
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Annexure-1

Proforma for submitting representation against the question(s)/answer(s)

Q. No.

Answer as per
model answer key

Answer  as
per candidate

Brief remarks along with relevant rules supporting
the claim

Signature of the candidate
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South East Central Railway
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SR gt (/o) & fog vaste T fomiew 28/03/24 wr dwfrewal/<ae fwm @ 25% snsuat et

MCQ Paper for Junior Engineer(D/M) 25% IMA Quota of Mechanical / Diesel
department on dt 28/03/24

Max Marks : 100 HfYdHdad 3ih: 100
Duration of Exam: 120 min WRien sl 3afdr. 120 fFe

1
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(secr.indianrailways.gov.in > Dep/Div of SECR >Division > Nagpur > Personnel >
Answer Key)

General Instructions for candidates:

1. Use of unfair means will lead to cancellation of candidature.

. The question paper will have to contain 110 questions at least. Out of which
100 will have to be answered. The duration of the examination will be 120
minutes.

3. There will be negative marking @ 1/3" for a wrong answer.

4. During the examination mobiles should be in switched off mode & calculators are

6.

not allowed.

. In case of any discrepancy or error in the question paper, the English
version of the question should be considered as authentic.

Answer key of the exam will be uploaded on official website of SECR
(secr.indianrailways.gov.in > Dep/Div of SECR >Division > Nagpur > Personnel >
Answer Key) after completion of exam.



drwr : 1400/1600 wereht 2u/3 ¥ frafefistt Srorer R (A

Section A: 1400/1600 HP DEMU/ 3 Phase MEMU/BG Diesel
Locomotive ( Technical)

1. C3W fadwe area it foraet feurfa afe @
A. a3 fufy afe B. u feafq afen
C. d= feafa afér D. &g 1o afer 1=

How many position setting of C3 W distributor valve has
A. Two position setting B. One position setting
C. Three position setting D. No different setting

2. wgu -9 grea hI fora sifsT Rafa 21
A. 03 fiafg B. 02 Rafg C. 05 feafa D. 01 feufa

How many braking position of SA-9 valve have..
A. 03 position B. 02 position C. 05 position D. 01 position

3. THHAR GR&T aTed gere W He forar ma @ (forett / et 2 #)

A. 10.0 kg/cm2 B 6.0 kg/cm2
C. 10.5 kg/cm2 & 3= D. 6.0 kg/cm2 @ =

MR safety valve is set at pressure (in kg/cm2)
A. 10.0 kg/cm2 B. 6.0 kg/cm2
C. Above 10.5 kg/cm2 D. Below 6.0 kg/cm2

4. © -9 el s area g i gt dar furfq § et (dowes) F A=
A. 18 1 21 psi B. 23 @ 26 psi
C. 30 & 33 psi D. 35 @ 38 psi

In full service position of A-9 auto brake valve pressure reduction is between
(PSI)......

A. 18 to 21 psi B. 23 to 26 psi

C. 30 to 33 psi D. 35 to 38 psi

5. WDG3A wireiw , fora g siafr s 3w feram sirem 87

In WDG3A Locos, how many main bearing are used?
A.1 B. 2 C.9 D. 3.



6. WDG3A 35+ s fi o1 a1 (39 #) ?

The size of Engine Crank Pin in WDG3A is (in mm)
A.127mm  B.2159mm C.1524 mm D. 190.5mm

7. SheReTTaE SHE 37 oTEt o sft freRrt (3 H) | ...

Clearance between crankshaft journal & bearing is (in inch)......
A. .001” to .005” B. .005”" to .010”
C. .002” to .006” D. .004” to .008”

8. WDSG6 et # fora s\ &mie fthe forg STTd &

How many cam segments are fitted in WDS6 loco
A. 6 Nos B. 3 Nos C. 8 Nos D. 10 Nos

9. WDG3A loco e Bearing journals = smer (3= #) =

Size of Main Bearing journals in WDG3A loco is (in mm).................
A. 1524 mm B.2159mm C.254 mm  D. 228.6 mm

10. v WDG3A 16 ficiet st 4 fora= va wmwe bushes fire &t St &

How many cam shaft bushes are fitted in one 16 cylinder block of WDG3A
A. 14 B. 16 C. 18 D. 20

11. WDS 6 fowfsa (split )frr # forae gfa 2 &
How many teeth are in split gear of WDS6 loco
A. 28 B. 50 C.52 D. 56

12. WDG 3A v firg a0 &t Tt & S &9 o fueed et # r s @l During setting

of cam gear timing which piston is kept at TDC
A. R-1 B. L-1 C.R-8 D. L-8

13. WDG 3A & e e ferafar & st arqe 1 siat sifres 7&f €A1 =g

The temperature difference between the two consecutive main bearings should
not exceed by

A.5°C B. 2°C C.10°C D. 20°C

14. wsiisft drugwt el W e 9 w1 aaum @ .
Exhaust gas temperature at ABB TSC inletis ............



A. 700°C B. 600°C C. 450°C D. 750°C

15. sswe &1 (Torquing )= foram smar 27

A. 50 $re tasium| B. 80 i uwsfiwm
C. 30 % Ibs D. 60 % uersfiug
Torquing of injector is done at
A. 50 ft. Ibs. B. 80 ft. Ibs.
C. 30 ft.Ibs D. 60 ft. Ibs.

16. SiFet T °§ & ®¢ forg el ot saman S @

At what degree the spray hole in injector nozzle is made
A. 60° B. 40° C. 50° D. 30°

17 ot o oc1 § i Y aq € Serd @
A T da g s da w1 fugor B, fues a1 & S &1 fgor
C.3maatd s aa & o D. 370 o =8 78
Which item increases the lead contains in lube oil

A. Mixing of fuel oil in lube oil B. Mixing of Water in lube oil
C. Mixing of Lube oil in fuel oil D. None of these

18. drze Iw it F=TE F S SAT [T STET =l

Height of side buffer should be maintained between
A. 1105 mmto 1030 mm B. 1150 mm to 1000 mm
C. 1150 mm to 900 mm D. 1105 mm to 800 mm

19. Fr-=1 Al H, oM AT HT Slee H 2k

In Co- Co bogie, traction motor cap bolts is torque at
A. 700-800 ft. Ibs. B. 750-800 ft. Ibs.
C. 759-810 ft. Ibs. D. 775-825 ft. Ibs.

20. WDS 6 @t &t gt 1 st @1 87

Weight of complete of WDS6 loco is
A. 124.00 Tones B.121.00 Tones
C. 125.00 Tones D. 126.00 Tones

21. WDS6 et # wft snft sredt higer fsive shi e 31 87

No. of outer coil springs per bogie in WDS 6 is
A.6 B.8 C.12 D. 16

22. gft % Tut forwes R0 O g St €



A. T St gteror B. st adiemor C. ot adieqor
&Y T gleor

Cracks in the axle are detected by
A. Magna flux test B. Ultrasonictest C .Zyglotest D Chemical test

23. 1400 werdt <t % g5 (ehosust) =7 wiew
A ¥ -50-ta B % -1400-t
C. ¥-1400-t D. <ireft-1400-sméumstt

Model of engine(CIL) of 1400 HP DPC
A. KTA-50-L B. KTA-1400-L C. KT-1400-L D. DPC-1400-EnG

24 DEMU DPC ¥ gy u9 =l &I a1 SITar 27
A. b s ug B. Sidfidi-umarsdt

C. fié-uwemsdt D dfidt e u
Fuel pump in DEMU DPC is called as
A. PT fuel pump B. DPC-FIP

C. PT-FIP D PP fuel pump

25. 1400 wadt el # fciet it g

No of cylinder in 1400 HP DPC
A. 18 B. 12 C. 16 D 20

26. 1400 HP DPC gs # ddted s1quma

Compression ratio in 1400 HP DPC Engine
A. 13.8:1 B. 12.8:1 C. 12:81 D 13:81

27 . rit =t 2t At amar 1400 wedt S L

Water tank capacity of 1400 HP DPC .......
A.163 B.153 C.173 D 513
28.1400 HP DPC #, gmm=r AT qoum w e Tfd 9T foerare at o1 gse a1 giar 87

In 1400 HP DPC , lube oil pressure at the rated speed at normal operating
temperature is



A. 3.2 t0 6.0 kg/cm2 B. 3.5 10 6.5 kg/cm2
C. 3.8 to 6.8 kg/cm2 D 3.4 to 6.16 kg/cm2
29.1400 HP DEMU DPC + firr siuma =1 87

Gear ratio in 1400 HP DEMU DPC is
A. 19/91 B. 21/81 C. 20/91 D 20/51

30. 1400 HP DPC 1 te== i @

Length of headstock in 1400 hp DPC
A. 21417 mm B. 21330 mm
C. 20417 mm D 22417 mm

31. Aokt werres vtk (Ysuer, #uer) 1600 wordt Sswmy et §# 8 & e W ot s dre
T HM @ 8

Mechanical auxiliary power (radiator, Compressor) in 1600 HP DEMU DPC at
8 th Notch working at full aux power is

A.200HP B.120HP  C. 160 HP D 180 HP

32 . 3 % MEMU/DMC wear araeeat Som a1 st o S
A =t e i B. wfemr-at
C. den-det TR {51 TR D sft sn-ait =17 wer R ey

Types of bogies used in 3 phase MEMU/DMC
A. BO-CO B. CO-CO
C. CO-CO air spring type D BO-BO Air spring type

33. 3 =T A4y H freR Srgurd

Gear ratio in 3 phase MEMU
A. 103/23 B.103/25 C.102/33 D 104/35

34. wHsuHT HT gt STTeE H R T L



IC schedule of MEMU donein ......
A. 240 -20 days B. 240 +20 days

C. 240(+20-10) days D 240 (+0-10) days
35. wwduny (Sumet/Awt) & U afed 1 = @ 27

Wheel diameter of new wheel in MEMU (DMC/TC) is
A. 952 mm B.956 mm C.986mm D 990 mm

36. 3 =or v H HisfiE e S

CBC coupler height in 3 phase MEMU
A.1045mm B.1055 mm C.1035mm D 1085 mm
37. 3 =rwor T/ EiuwEt # e Stererr amar

Control reservoir capacity in 3 phase MEMU/DMC
A. 280 Itr B. 184 Itr C. 180 Itr D. 80Itr

38. 3 % T H 1§ TR HATs R 27

Buffer height from rail in 3 phase memu is
A. 1099 mm B.1090 mm C.1070mm D 1050 mm

39. T =T ST | 5o sciten shi WiET o6 T

Condemning limit of brake blocks in three phase MEMU
A.DMC 16 mm TC 16 mm  B. TC 18 mm DMC 16 mm
C.DMC18mMmTC18 mm D DMC 18 mm, TC16 mm

40. =i wasuryg Sume % qed 3 =T § fthe foham T W e e g gt @i @
A SR B. dix
C. a% D st wenfera

Air compressor fitted in 3 phase under slung MEMU DMC is driven by

A. Generator B. motor



C. self D battery operated

Section B: General Knowledge, Maths, English, reasoning &
railway Establishment/

AR w7, wTiom, s, aoh 3 o SATUHT

41. e h FEART TR TEAHH o A D (o daehl i & STt
t24udw 129w &t 36 wEN 2] wH

. Period of Study Leave for technical course shall be granted to Rly servants

1S
A 24 months B 12 months C 36 months D 21 months

42 . U GHTE § gad A ok HEERT o USHTR o 52l shi Jert-er €ar = 272
wh 60 e o, 45 =2 C.75 e D. 54 =52

What is the statutory limit of hours of employment of Continuous Category employee

in a week.?
A. 60 Hrs B. 45 Hours. C. 75 Hrs D. 54 Hrs.



43, AfEr &9 @ AU At & o amies TR we 2, fora forat o ol T off
ifire &

A. 22 AR s B @mar 30 = & &w e
C. @mar 24 = D. @mar 30 = & st
Weekly rest for Essentially Intermittent workers is hrs including a full
night in bed.
A. 22 consecutive hrs B not less than 30 consecutive hrs
C. 24 consecutive hrs D. Equal to 30 consecutive hrs

44 . fere frge o 31Rehan ford sisk &1 dehd 27
A 2N B. d= C.=r D. fame

Maximum how many breaks can be there in a split shift?

A. Two. B. Three C. Four D. Single

45 fora Tt o ¥fiaR idqeer STaehmT Tfisha foham ST HerdT 27
A 30 B.60fwm C.45fw  D. =i €=t

Within how many days Compensatory Off can be sanctioned?
A. 30days B.60days C.45days D.no limit

46. PREM foree areas

%, JeE § YT Ui s iy w. fafrmior & o sttt i amier
T, STV H A FHANET AT et D, smyfehier 7§ & wHeniEr i anttert

PREM refers to

A. Participation of Railway Employees in Management
B. Participation of Railway Employees in Manufacturing
C. Participation of Railway Employees in Maintenance

D. Participation of Railway Employees in Modernization



47. 9 T H R T Rl

PREM functions in levels

48. 9 S T W NSTREUH 3kt shl STeed
A. demet B, semmww C. wew Ufedm @i D. weer su
PREM meetings at Railway Board level is chaired by
A.CRB B. Member Staff C. Member Rolling Stock

D. Member Traction

49.  FHFHR GIATEST AT FHT AT FEAT
A. FHET w3ATEST St B. T watres stfafrm

C. TSR g3t Sfafem D. =i 7

Workman Compensation Act re-named as
A. Employee Compensation Act B. Employer Compensation Act

C. Employment Compensation Act D. none

50. @I 9T RBE W Te 4d ¥ HHAR! & URAR & Tadl &1 3l Hgfaa
3 Feferd g2

) FTT102 @ Fgw202 mAEE302 9 FEF 402

Which RBE rule deals with the compassionate appointment of family members of a
deceased railway employee?

A) Rule 102 B) Rule 202 C) Rule 302 D) Rule 402



51. @ =it o afaml &t ueaed qeTmes feur S @
A. it arEafesk st sdeat % wa H died § WS §
B. St f-aAierspfer et & WeeiA § e § TS 8
C. St &a1 § | & D. =g 7

Exgratia lumpsum compensation is paid to the families of railway
employees

A. who die in harness in performance of bonafide official duties
B. who die in harness in performance of non-official duties

C. who die 1n service D. none

52.  3¥3uE TR AT o SR &M dTeft 9 o fofe, Thd TRy o1 o foram simar @

AT T TSI

A. 25 @@ B. 30 @@ C.20 @r=g D. 35 @

Exgratia Lumpsum amount paid for death occurring due to accident in course
of performance of duties is

A. 25 lakhs B. 30 lakhs C. 20 lakhs D. 35 lakhs
53. 7 & ol % AER =AaH TR g
A. 7000 B. 4500 E. 9000 D 3500
minimum pension as per 7th PC is

A. 7000 B. 4500 C. 9000 D 3500

54. Qe YY) A A % % & | T Frft

FHAR GRT FTHE /T % THT 9T |



A.50% B.30% C.35% D.60%

The family pension shall not be less than % of the minimum of the
scale held by the employee at the time of
retirement/death.

A. 50% B.30% C 35% D. 60%

55. T FHARI % 9T B o HIRUT LT FATEU Shi ST W st 37ater 37} den S e el TS
EHET

A. 24 B 36 C. 12 D. =i =&l

Period of Retention of Railway Quarters on account of missing of Railway Servant is

upto
months.
A.24 B 36 C.12 D. None.
56) | never miss a football match. | fond of it since my childhood.
(A) am (B) have been (C) has been (D) will be

57) "One who does not care for literature or art"
choose the one which can be substituted for the given words/sentence.

(A) Philistine (B) Dictator (C) Primitive (D) Hypocrite

58)"List of issues to be discussed at a meeting.

choose the one which can be substituted for the given words/sentence

(A) Time table (B) plan (C) Agenda (D) Schedule

59)"Make something less severe."
choose the one which can be substituted for the given words/sentence

(A) mediation (B) palliation  (C) reduction (D) aggravation



60)"Misappropriation of money."
choose the one which can be substituted for the given words/sentence

(A) robbery (B) theft (C) fraud (D) embezzlement

61)"Ready to believe anything."
choose the one which can be substituted for the given words/sentence

(A) Credulous (B) Incredulous (C) Incredible (D) Credible

62)They are talking a confidential matter, so do not interrupt.

(A) in (B) on (C) for (D) over
63) The Chairman is ill and we will have to the meeting for a few days.

(A) put on (B) putof (C) putaway (D) put off

64) Either you or | should the lead.
(A)takes  (B)take (C)taking (D) took

65)The thief was caught and the police the stolen goods from him.

(A) concerned (B) attained  (C) recovered (D) recover

66) more you earn, more you can spend.

(A) So,as (B)As,as (C)The,the (D) If, than

67) | am very happy in India. | really miss being there.

(A)tolive (B)to havelived (C)to be lived (D) to be living

68) Don't worry, I will stand you if you get into trouble.
(A) for (B) out (C) by (D) up

69)The cat and the dog have a enemy in the rat.



(A) same (B) common (C) mutual (D) simillar

70) He is very good making stories.

(A) in (B) about (C) at (D) for

71. T I FAUTT H 150 U AT W | I70 T 3/5 HNT & W IR Bl 3R 8 3R
1D & E G0 BT 3R g1 T [AUTT H $d fha- U8 IR &1 3R g2

In a forest department, 150 trees were planted. 3/5 of them face north and the rest
face south. How many trees in the forest face north?

A) 50 B) 60 C) 75 D) 90

72. T GYf TGV HU-! | - AT H1H IR g &: U YU, Th TQIHR, 3R
T fauuM ISR Uded SR RATHR H T Ud® diF IR 31fee HHTa 8 T
HU B A HATS 1,40,000 BTY UTTHIE § | TSUDH B HTRTD HHTS (el 62

Three people are working in a wealth management company: a manager, an
accountant, and a sales officer. The manager and the accountant each earn three times
as much as the sales officer, The total monthly earnings of the entire company are
%1,40,000. What is the monthly earnings of the manager?

A)30,000 B)R45,000 C)R60,000 D)X15,000

73. U U H ¢ fIarst T §: A, B, C, D, E, F, G 3R HI A eS¢
H&Tad H Ugd §, Afded B ¥ 81| D RISl EX IR FA Uga g1 G Faamsi B
TR & S 2, AR C A TE | 1 TS F & goTea § o 2, A £ & e
DI RIS 9o Ugd 31T 62

There are 8 players in a competition: A, B, C, D, E, F, G, and H. Player A ranks ahead
of C but not ahead of B. Player D ranks ahead of E and F. Player G ranks ahead of B

but not ahead of C. Player H ranks ahead of F but not ahead of E. Who comes first in
the ranking?

A)A B) B C)D D) G




74. O RS B & T IR W 1 Tdr H g a1 g, Y RS €S W &

ST S gohdl 82

If 'Red' is changed to 'Blue' and 'Green' is changed to "Yellow', what can be made
from 'Red and Green'?

A) Yellow and Blue B) Blue and Green
C) Red and Yellow D) Purple

75. Tfe fhare &) Riem & ged four 9, a 99 &) feaH Sear o ol 82

If 'Book’ is changed to 'Education’, what can 'Pen' be changed to?

A) Learning  B) Stationery C) Pen drive D) Tool

76. a1 AT ISl Sl Hared ¢ 2:3 & Iequrd # g1 Il o Feger
&A%l 48 sq.cm g, dl a3 THeTST 1 &bl &:
Corresponding sides of two similar triangles are in the ratio of 2:3. If

the area of the small triangle is 48 sq.cm, then the area of large
triangle is:

(a) 230 sqg.cm. (b) 106 sg.cm (c) 107 sq.cm. (d) 108

sg.cm

77. AABC #, AB = 6v3 I#, AC = 12 3#T 3k BC = 6 @+ gl T B
T g7

In AABC, AB = 6v3 cm, AC = 12 cm and BC = 6 cm. The angle B

IS

(a) 120° (b) 60° (c) 90° (d) 45°



78. 3,8, 13, ..., 253 & 3fde g & 20 aT UG §:
20th term from the last term of the A.P. 3, 8, 13, .., 253 is:
(a) 147 (b) 151 (c) 154 (d) 158

79. 1 & 5 do fr g geamsit I [Qafaa g arel 98 oy I & 41
g7

The least number that is divisible by all the numbers from 1 to 5 is:
(@) 70 (b) 60 (c) 80 (d) 90

80. fohegl ol YsilcHs Juitehl a 3R b & fIT A.EY. (a, b) x .{.9(a,b).

For any two positive integers a and b, HCF (a, b) x LCM (a, b) =

(@) 1 (b) (@ x
b)/2

(c) alb (d) a x b

81. ABC A #, B I¥ gH4IUT AB = 24 cm, BC=7cm%I tan C T
AT T 87

In A ABC, right-angled at B, AB = 24 cm, BC = 7 cm. The value of
tan C is:

(@) 12/7 (b) 24/7  (c) 20/7 (d) 7/24



82. (Sin 30°+cos 60°)-(sin 60° + cos 30°) Thdsh sITEX &7
.(Sin 30°+cos 60°)-(sin 60° + cos 30°) is equal to:

(@) 0 (b) 1+2+3 (c) 143 (d) 1+v3

83. Ife cos X = 2/3 §, @ tan X forgs s &2

. If cos X = 24 then tan X is equal to:

(@ 52  (b) N(5/2)  (c) \5/2 (d) 2K5

84. IfE Teh g T ar FA=A3ft & o &1 wior 1102 §, o Bear & &
U TG Y@I3N & ST T HIT FAT &2

. If the angle between two radii of a circle is 1102, then the angle
between the tangents at the ends of the radii is:

(@) 902 (b) 50  (c) 70° (c) 40°

85. Ife r et I AT §, o el ol IS&T &It Tole=T garT fear Sirar
&

If r is the radius of the sphere, then the surface area of the sphere
is given by;



(@) 4 mr (b) 2 1 r? (c) m r (d) 4/3  r°

86. fade Za1s 35 AT &I Ush dlecl & FIW 3R AT &1 BFsar 25 T
AR 8 A & aredy Y aF Tag &

The radius of the top and bottom of a bucket of slant height 35 cm
are 25 cm and 8 cm. The curved surface of the bucket is:

(a) 4000 sg.cm (b) 3500 sg.cm

(c) 3630 sqg.cm (d) 3750 sg.cm

87. IfE A 3% IMURT & ATY TH & B[ & ar aacyl & Sisa §, a
g Tk e §;

(a) IF (b) RreisT (c) MR
(d) T=TE

. If we join two hemispheres of same radius along their bases, then

we get a;

(a) Cone (b) Cylinder (c) Sphere (d) Cuboid

88. 49 JHT x 33 THAT x 24 THAT JATH & GoATH & & H ollg &l Teh
BN gehsl, Ueh B &9 Sellel o [T aTell Siiar g1 el &1 fFsam #ar g2

A solid piece of iron in the form of a cuboid of dimensions 49 cm x
33 cm x 24 cm, is moulded to form a solid sphere. The radius of the

sphere is

(@) 21 cm (b) 23 cm (c) 25 cm (d) 19

cm



89. STeT & al g fRT 1 carg 44 Gt 3R 24 QAT §. Sredy &Y
a5 35 THT g1 STecl ST &7 AT 4T §7

The diameters of the two circular ends of the bucket are 44 cm and
24 cm. The height of the bucket is 35 cm. The capacity of the bucket

IS

(a) 32.7 litres (b) 33.7 litres (c) 34.7 litres (d) 31.7
litres

90. Ifg gA foell a&g & 3R &I Mol § Tolel H Teold §, Al Joled I
A= g

If we change the shape of an object from a sphere to a cylinder,

then the volume of cylinder will
(a) Increase (b) Decrease

(c) Remains unchanged (d) Doubles
91. & THST o T SEATHT o dTed Teed Tt ol Rl 9
(a) e s A (b) it et
(C) e it (D) 3 & ¥ Tt

Who was the first Railway Minister who resigned due to a train accident?

(A) Lal Bahadur Shastri (B) John Mathai

(C) Asaf Ali (D) none of these

Q2. 3 T oW BT T S i 91 87
(A) ulerm et Terd (B) S #e7 e
(C) wdi wid W (D) 4o #e7 il



Which is the shortest railway zone in the country?

(A) West Central Railway (B) North Central Railway

(C) Northeast Frontier Railway (D) East Central Railway

93 WRA ¥ Hofdl ol & fohet o ot <faTg 272
(A) BT - ST elt Tomiindl T (i) gt - e el e e
(eft) g - fogs o e (d) - feeRiag T
Which train in India has the longest route length?
(A) Howrah - Jammu Tawi Himgiri Express
(B) Kanyakumari - Jammu Tawi Himsagar Express
(C) Kanyakumari - Dibrugarh Vivek Express
(D) Guwahati-Thiruvanthapuram Express
94 Frfafaa & & foFe T ¥R o1 He T o O fud 27
(AyTmas  (B)dmmE e (C) g (D) faew
On which of the following is the longest railway bridge in India located?
(A) River Ganges (B) Vembanad Lake

(C) River Brahmaputra (D) Chilka Lake

95 frfafad & & forg wret & v Yora & 3 &t e feua 82

(A) Tt (B) g (C) T feesft (D) e

o D

In which of the following cities are located 3 zonal headquarters of Indian
Railways?

(A) Guwahati (B) Mumbai (C) New Delhi (D) Kolkata



96 Fr=fafaa & @ ford veeht Yo v arfioft fesme e & faw ST ST 27
INELESS (B) it aiE it
(C) it srewit (D) it ot

Who of the following is known for having designed the first railway
timetables?

(A) George Bradman (B) George Bernard Shaw

(C) George Bradshaw (D) George Brummel

97 frafafed # & form Tt T Fefie & gfam ot T S Yo ot ST S G 2
(A)fFFms (B)gwm  (C) FagS (D)

Over which of the following rivers is the world's highest railway bridge in
Kashmir being constructed?

(A) Chenab (B) Jhelum (C)Sutlej (D) Indus

98 Frferfaa & & fora wvm W avft o 157 s1orfa site, Hiet o 30 7 &/ar?
(A)7@rs  (B)®=me  (C)fmer (D) faefirsd

o

Which of the following stations has/had all the three guages viz. broad, metre
and narrow?

(A) Lucknow (B) Chandigarh (C) Shimla (D) Siliguri

99 YA T SiTE Tl {Td TS hl =T foha-t 87
(A)5% 35 (B)5%c6

(C)4Fz 113 (D)5He4ia



What is the width of broad guage railway line in India?

(A) 5 feet 3 inches (B) 5 feet 6 inches

(C) 4 feet 11 inches (D) 5 feet 4 inches

100, F=fcTRad & & ford T9 T Ueel foereifET e o 98 & STHT STTar o1
(A) T @ vem (B) 4o Szt

(c) Tk faereh i@ (d) waafa st 2

Which of the following stations was formerly known as Victoria Terminus?

(A) Churchgate Railway Station (B) Mumbai Central

(C) Lokmanya Tilak Terminus (D) Chhatrapathi Shivaji Terminus



101

g C ISTHTHT Section C  Rajbhasha

meﬁr&ﬂw&wqﬁ(—rgﬂ?

When was Official Language Act 1963 passed?

A) 10.09.1976 B) 14.09.1949
C) 26.01.1950 D) 10.05.1963

102

ToTHTT JARATH 1963 Fa nfaa g3 ?

When was Official Language Act 1963 amended ?

A) 1967 B) 1950 C) 1976 D) 1955

103

TSN 793 & 3R, A g AR ediv g foa &
H AT § ?

According to Official Language Rules, under which region
Andaman & Nicobar Islands come ?

A) '& & / Region 'A' B) '@ &7 / Region 'B'
C) 9T &9 / Region 'C' D) 3«1& & &I sl / None of

the above

104

XU UGl I ASTHST 4T ¢ 2 What is the Official
Language of Arunachal Pradesh?

A) T&&r / Hindi  B) &T&elr / Maithili
C) ¥YUTelr / Santhali D) 373 / English

105

e ifafeTa v OrT 3(3) 9 F g9 gs ?From when did
the Sec 3(3) of Official Languages Act take effect ?

A) 26 SeIadl, 1965 / 26 January, 1965
B) 14 f&dsx, 1949 / 14 September, 1949
C) 05 37, 1955 / 05 June, 1955
D) 10 &S, 1963 / 10 May, 1963




106

TrotareT JifAfATHE 1963, T URIW 6 T 7 fhd T & o] oT80
giar ?

In which state Sections 6&7 of Official Language Act 1963
do not apply?

A) SFH T FHR / Jammu and Kashmir
B) df#eg / Tamilnadu
C) 37%UTddel 92l / Arunachal Pradesh

D) &8 & Is gl / None of the above

107

fehet-ToheT AT H 3¢ T TSTHIST & ®9 H 6l fohar arm § 2

In which states Urdu has been declared as Official
Language?

A) TASIRA T 3¥0mae 962 / Mizoram & Arunachal
Pradesh

B) Qedm=r g f9gR / Telangana & Bihar

C) S#Fq g FHR / Jammu & Kashmir

D) dilesh a dffielaig / Karnatak & Tamilnadu

108

AU & HE-V A Tt A Feftd suay &g 3egeoe &
g7

In which article is the provision regarding OL policy available in
Part V of the constitution?

A) 3TeBe-120 /  Article -120
B) 3%1=5¢-210 / Article -210
C) 3=5c-343 / Article -343

D) 3qedc-351 / Article -351

109

Gfqers T 3Medl gl Hath Taelel SUclst 37eoe i A
IdET ?




Name the article in which the provision of the Eighth schedule
of the constitution is available?

A) 3ETE0E 343(1) & 350 / Article-343(1) & 350
B) 3WTedq 344(1) & 351 / Article-344(1) & 351
C) 3eTede 120(1) & 210 / Article-120(1) & 210
D) 3T 345(1) & 346 / Article-345(1) & 346

110

TTHNT 9 & 9IRd g3M? When was the Official Language
Rules passed?

A) 1963  B) 1976 C) 1950 D) 1955




